TT Multiplication /.Y T Multiplication /.Y
4x..=28 .. x9=45 9x...=72 6x5=..
9x2= 3x4=._. 9x6= 7Tx4=_.
.x2=16 3x3=.. 8 x..=32 .. 10 =60
2 x5 = 10x9=... ..x9=90 8%x5=..
3x..=6 3x..=30 5x..=20 3x6=..

TT Multiplication &% T Multiplication /.Y
3xT=.. 4x35=.. 7Tx3=.. ..x9=54
5x7=.. 6x..=48 4x4=... ..x10=100
10x5=... .. x5=25 8x5=.. 10 x ... =30
..x8=16 2x3=.. 8%..=64 3x6=..
8x..=72 2x..=18 S5x2=.. 2x..=16




Qﬁ Correction Multiplication &%

9x8=72 6x5=30
9x6=>54 7x4=28
8§ x4 =32 6 x10 =60
10x9=90 8 x5 =40
5x4=20 3x6=18

7 Correction Multiplication ()

4 x7 =28 5x9=45
9x2=18 3x4=12
8x2=16 3x3=9
2x5=10 10 x9 =90
3x2=6 3x10=30

,Tﬁr,Correction Multiplication &Y

7x3=21 6x9=54
4x4=16 10x10=100
8 x5=40 10 x3 =30
8x8=64 3x6=18
5x2=10 2x8=16

: @Correction Multiplication &%

3x7=21 4x5=20
5x7=35 6 x 8 =48
10 x5 =50 5x5=25
2%x8=16 2x3=6
8x9=172 2x9=18




